Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER - 6(NEW) « EXAMINATION - SUMMER 2018

Subject Code: 3361106

Date: 05-May-2018

Subject Name: Multimedia Communication

Time: 10:30 AM TO 01:00 PM

Instructions:
Attempt all questions.

Total Marks: 70

Make Suitable assumptions wherever necessary.
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Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.

Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €22l SlEURL Ulclotl ol AU,
Draw typical telephone traffic pattern on a working day.

d($oL (Bau Mol 2Aslet 2U3s Veol €12

What is the link requirement for 50 subscribers for folded and fully connected

network?

YO UORSAAGR HER 8BS dal gl sases azas we (ds

Asatale 9 8?2

Write full form of : (1 )BHCA
Yot cul:  (1)BHCA
Write full form of : (1 )ISDN
Yz ot cull:  (1)ISDN
Explain BRI and PRI in ISDN.
ISDN Hl2 BRI el PRI ¥l
Write List of satellite subsystems.

Azclse ol doRed ol gl cdvll.

List two Digital Audio and Image File Formats.

(2)GOS
(2)GOS
(2)DVB
(2)DVB

A Bwect w3 wa s8R s18ct 1le ol el wetldl.

Write full form of JPEG and MPEG.
JPEG el MPEG of Y3 otlH cull.
List DMS application.

DMS ofl GullPdlcltell A€l olotiall.
Write three modes of centralized SPC.
A2ABRAS SPC all AL WS AU,

Draw Different Signalling tone waveforms used for telephony.

OR

2@A5l 12 Rost(@ol 2lotetl Aagli €12\,

(@ Explain DTMF dialling scheme of telephony.
@) eclslell 12 DTMF staldol UHos A
(b)  Draw architectural block diagram of VODSL.
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VODSL oll UUS25AUA ocAls SlaAdlH ENRL.

OR
Explain block diagram of Earth station.

WY R2Ustall 6cAlls SlaAUH ERL
Explain LEO,GEO orbits in satellite communication.
Aclse s1jbalet W2 LEO,GEO 3 (olz quesdl.

OR
Explain MPEG-4 coding of audio visual objects.

AU (Aosyuet wWoBs2 U2 MPEG-4 531 uHestal.
Compare single stage and two stage network.
Rold R Al st ¥ Aeds ofl AuuHall s32A.

OR
Explain Mobile IP.
Heset we Ul auestal.
Explain Broadband ISDN.
WlsGloS ISDN AHesicl.
OR

Describe the block diagram of DMS.
DMS oll 6Els SLAUH AHestal.
Explain the subscriber loop system using cable hierarchy.
Folc slaRulS] ad UeRsAGR U Rieu yuestdl.

OR
Describe digital audio processing with block diagram.

Bed 320 WNARDL 6Als StaUaUH oS AHostal.
Explain Fascimile services of ISDN.
ISDN ofl 3Ruscl Al umesA.

OR
Draw block diagram of EPABX and explain it.

EPABX oll 6clls SLALOUH €11 ol AMsicll.
Explain Broadcast DTH receivers.
Alssike DTH RRcR Al

OR
Explain telemetry, tracking and command subsystem of satellite.

Azclseoll 2AlNgl2(8o1 Ual sHIes URREH UM

List three difference between GOS and blocking probability.

GOS e ¢A$1 WAA(AZ] ol Al uRuuHE( ol 2uEl wlotial.

OR
Define the terms: Erlang and Tandem Exchange.

wlofl cautvul W Erlang ol Tandem Exchange.
Explain multimedia communication model.
ARG s1)(A¥alet st uHedl,

OR
Draw elements of a switching system.
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RARIL RreHs(l A@AHAU o stauanH €13\

Explain three modes of centralized stored program control.
A2A82S AR YAl 52l oll ARl HIS AMsical.

Explain kepler’s first and second law of satellite motion.
A2cse Halol 1R SR ol USAL ual ollol [Rai qestdl.

Given that MTBF=4000 hours and MTTR=8 hours, Calculate the
unavailability for single and dual processor SPC system with life span of 30
years.

%l MTBF=4000 $CS wol MTTR=8 $ClS &l ll SPC 30 Al w12l
tRlelcdl As Al A YNAUR ReH 12 AUAMAAAAS] ol dtatddl
5.

Explain wireless multimedia network system.
cAlRAYU HAAAGBaL Aead RreH UMl

Explain VOD distributed multimedia application.
vOD (33loes HAER(Sal Aiell3atet Amestal.
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